24195 Speaker Mounting Brackets

24195.000.55 black

24195.000.57 white

13
12
3
2
11
7
10
pos. description g{;&ﬂo' \?vrﬁ'i?[go' qty
1 speaker plate 01.44.450.55 01.44.450.57 1
2 washer g 5,3 mm 03.11.310.25 03.11.310.29 3
3 locking screw M5 x 12 mm 03.01.250.25 03.01.250.25 3
4 swivel joint 02.41.964.55 02.41.964.57 2
5 carriage bolt M8 x 20 mm 03.07.510.25 03.07.510.25 1
6 plastic end cap 25 x 25 mm 03.20.750.55 03.20.750.55 1
7 washer g 8,4 mm 03.11.520.25 03.11.520.25 2
8 hexagon screw M8 x 40 mm 03.01.570.25 03.01.570.25 1
9 wall mount cpl. 5.24197.1.55 5.24197.1.57 1
10 hexagon thread M8 x 20 mm 03.01.530.25 03.01.530.25 1
11 angle with wire rope cpl. 6.24195.2.55 6.24195.2.57 1
12 cap nut M8 03.08.420.25 03.08.420.25 1
13 washer g 8,4 mm 03.11.520.25 03.11.520.25 1

-11/09-

:)

(

SPARE PARTS SPECIAL STANDS

24195


https://www.canford.co.uk/products/53-788
https://www.canford.co.uk/products/53-788
https://www.canford.co.uk/products/53-869
https://www.canford.co.uk/products/53-869

	Page 1

